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1/ Décompose ces nombres.
54 320 245 =……………………………………………………………………………………….
................................................................................................................................................
1 254 100 000=……………………………………………………………………………………….
................................................................................................................................................

8 501 745 123 =……………………………………………………………………………………….
................................................................................................................................................

12  878 100 =……………………………………………………………………………………….
..............................................................................................................................................

2/ Range dans l’ordre croissant.
608 302 150 – 680 302 150 – 608 320 150 – 608 302 105 – 608 320 105 
................................................................................................................................................
................................................................................................................................................
3/ Range dans l’ordre décroissant.
3 101 101 101 – 3  110 101 100 – 3  101 110 001 – 3 110 101 110 –     3  101 110 110 
................................................................................................................................................
................................................................................................................................................
4/ Complète le tableau.
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.........................................................................................................................
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